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79 FR M LY 2 Zx1h Y LEX 23t 39 = pas
80 ARV 27 TOKIE P R 23 40 & 5
81 tE ML 2 kx5 L) HhAE 23t 41 Fn i
82 FR M LY 2 I % LEX 3HE 1 & &
83 AR ML 27 Bk pal HhE 3k 2 Py Fn
84 ARSI xS i S HEX 3L 3 & &
85 tEMLIE 2 ExJif % HhE 3Pt 4 i i
86 ARV 27 I 5’4 L REX 3HE 5 & &
87 AR ML 27 Pt o HEKX 3L 6 & pass
88 FRNYL I 2 TR IR | CPREGEE S 3Pt 7 = i
89 FR M LY 2 ElEan B |EREZGES SHE 8 pis i
90 AR VL5 27 SeHFT 4 HEX 3L 9 & &
91 tE ML 2 HH* 7% L) LEX 3Pt 10| & &
92 HRINY L 2 * B 5’4 LEX 3HE 11 = pas
93 G pANRA s e FxE 5’4 L REX 3PE 12 = &
94 AT A 2 [REl P LEX 3 13 & &
95 FR M LY 2 /= % LEX SHE 14 = &
96 ARV 27 BT B L REX 3HE 15 & &
97 AR ML 27 [k b 5§ HEKX 3L 16| & pass
98 MR 2 TxZE Y HhE 3HE 17 & i
99 tE ML 2 Sk % HhE 3Tk 18 & i
100 AT Y 2 DI P HEX 3E 19 & &
101 FR M LY 2 P o Y LEX 3HE 20 | B &
102 FR M LY 2 DR % LEX 3HE 21 = pas
103 A YT YEE 2 BN 5’4 HEX 3PE 22 = 5
104 AR ML Y5 o 27 gk B2 ol HEX 3L 23 & i
105 tEMILIE 2 X 7 i SHE 24 & i
106 HRPNYL Y 27 G 5’4 LREX 3HE 25 & &
107 AR ML p 2 T B EEZESE 3L 26 | & i
108 FRNYL I 2 it L) LEX 3Pt 27 & &
109 FR ML 2 PR*E 5’4 LEX 3L 28 pis &
110 AR ML 2 i s HEX 3K 29 i pas
111 tEMILIE 2 ZExR L) HhE 3Pt 30 [ A& i
112 ALY 2 PRt 5’4 KIRIX 3Pt 31 & =
113 AR ML 27 ZEHET 9 dHE 3K 32 pa i
114 AR ML Y5 27 A B FREZEE S 3L 33 i i
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115 AT Y 2 T 5’4 T H SHE 34 & 5
116 FRNYL I 2 A5 5’4 HEX 3L 35 & &
117 tE ML 2 BEHVE % Ji] {5 B 3k 36 | & i
118 ML 2 ZExE s HEX 33E 37 | £ &
119 tE ML 2 B % LEX 3Pt 38 [ A& &
120 ARSI 2 kRl 5’4 KIRIX 3t 39 3 5
121 AR ML o ! 5§ VAN 3K 40 | 1% i
122 GIPANRA R s HxE 5’4 EX 43F 1 & =
123 FR ML 2 B % LEX 43 2 & &
124 AR o Ex P HEX 43K 3 i pas
125 TR 2 X% 5’8 HhE FEE 43 4 Py Fn
126 ML 2 JARaiE Y HhAE 43K 5 & i
127 FRINY L 2 FEREL % HhE 43 6 & 5
128 G PANRA R s Pl 5’4 LREX 43 7 & &
129 FR M LY 2 T * L) LEX 43F 8 & &
130 FR M LY 2 Fexig % LEX 43E 9 & &
131 AR ML o HBxEH 5§ HEX 43K 10| & pass
132 ATV 2 X FE P LEX 43F 11 & &
133 fRINY LI 2 (il 7 HEX 43t 12 i &
134 GIPANRA R s Tk 5’4 HEX 43F 13 & &
135 AR ML 27 B il HhE FEE 43F 14| & i
136 FR M VLY 2 PRxE4 ) LEX 43F 15| £ 2
137 AR 2 SeHfIE % EILE AFF 16 pay 5
138 AR VL5 27 S 5’8 i i 43 17 & i
139 FR M LY 2 Rk L) HhE 43F 18| & i
140 HRINY L 2 BI*FE % HEKX 43t 19 & &
141 AR ML 27 HxIT 5§ HEX 43K 20| R pass
142 AR ML Y5 Hp 27 ki) Y faiE 43K 21 i i
143 tEMILIE 2 BRI % [ {72 EL 43t 22 & i
144 AR M L5 27 PRxFay 4 BT 43K 23| R 4
145 AR ML 27 R il HEVLE 43F 24 | R i
146 FRNYL I 2 P Y HEX 43t 25 = &
147 FR M LY 2 PRxEF % LEX 43K 26 | & &
148 ARV 27 RHSE 5B |PHEZEESE 43 27 & 5
149 ALY 2 FF 5’4 HEX 431 28 = =
150 FR M LY 2 ZEx R % LEX A3E 29 & &
151 AR ML 27 PRk 5§ 27X 43K 30 [ # pass
152 AR ML Y5 o 27 JBEK{E P HME AR 43 31 & i
153 tEMILIE 2 [ % LEX 43t 32 & &
154 AR ML Y5E 27 FrxiR P HEX 43K 33 [ £ pas
155 HR PNV 27 PR P LEX 43F 34 & &
156 AL 2 Kk FE 7 LEX 43t 35 [ & &
157 tEMILIE 2 xR, Y LEX 43F 36 [ & g
158 ARV 27 Mrxzg P LREX 43 37 & &
159 FR N 2 RAE Y HEX 43t 38 = Py
160 MR 2 2o % 27X 43t 39 & &
161 AR ML 27 X 5§ 27X 43K 40 | R pass
162 AR YTV 2 Fxliz ) KR 43F 41 & &
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163 AR ML 27 JE *45 5’4 AN IESE 43F 42 i i
164 FRNYL I 2 EPhaan i HEX 53 1 & &
165 MR 2 ZExith % Ji] {5 B 5HE 2 & i
166 AR PNV 27 Pk P LREX 5 3 & &
167 MR 2 AR Y AT 53t 4 = i
168 FR M LY 2 P | CPRSGEE S 53 5 & i
169 AR ML o G i HEX 53 6 & pass
170 ANV 27 ks 5’4 EX 5E 7 & =
171 fRINY LI 2 X 5’4 HEX 5L 8 & &
172 AR M L5 27 R} P Gl X 53 9 & 4
173 AR ML 2 5Tk 5§ HEKX 53 10 £ pass
174 FRINYL Y 2 ARk % HEX 53F 11 & &
175 AR 2 kI % pANESNESE 53F 12 & i
176 AR ML 2 H*1E 4 HEX 53 13 i &
177 HR N 2 Brxids % KIRIX 5 14| £ &
178 FR M LY 2 PR#JK 7 LEX 5L 15 & &
179 HR PNV 27 M1 pal L REX 53 16 = &
180 G AN PR s R PRk 5’4 KR 53t 17 P =
181 fRINY LI 2 A % HEX 5L 18 = &
182 GIPANRA R s FkUK 5’4 L REX 5 19 & &
183 ANV 2 g3 5’4 LEX 53 20 = 5
184 FR M VLY 2 LR ) LEX 5L 21 & &
185 FRINY L 2 JEEES % HEX 53F 22 pis &
186 AR ML 2 X1 Jk 4 KB E 53E 23 i i
187 tE ML 2 x5 L) HEX 5L 24 | B pas
188 MR 2 Frxgk % HEX 5IF 25 & =
189 AT YEE 2 A% pal %X 53 26 = &
190 AT Y 2 JE 5’4 LEX 53t 27 P =
191 fRINY LI 2 PR % LEX 53E 28 pis &
192 ARV 27 TORT 5’4 L REX 53 29 & &
193 AT Y 2 VExSE P LEX 53 30 = &
194 FR M VLY 2 2Rk R % HEX 53F 31 & &
195 FR M LY 2 kA u HEX 5HE 32 = &
196 ARV 27 ot P LREX 53 33 & &
197 FR M LY 2 KTy o | CERZEESE 5L [ £ i
198 ML 2 XA % HEKX 5L 35 = pas
199 ANV TR 5’4 HME A 53 36 & i
200 AN Y 27 Jii]* P LEX 5E 37 & =
201 FR M LY p 2 2 7 HhAE 53 38 & i
202 HRPNYL Y 27 =% 5’4 BT HE 69f 1 & 5
203 G pANRA s e xR 5’4 LEX 69F 2 i 5
204 FRNYL I 2 k1 L) HEX 635F 3 & &
205 AR 2 BxiE Y A 6F 4 & i
206 AR ML 2 &x3R P HhE 63t 5 Py Fn
207 FR M LY 2 IkfF L) LEX 63F 6 & Py
208 FR M LY 2 = 5’4 HEKX 63F 7 & &
209 AR ML o HE* UK 5B EEZEAE 63F 8 & i
210 G AN PR s R IH- B 5’4 LEX 63F 9 & =
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211 AR ML 27 fiix1h 4 SEKX 63F 10| & pass
212 ALY 2 T+ 5’4 HEX 6L 11 = =
213 FR MLy 2 AT % LEX 63E 12 pis &
214 ML 2 2%, s iy 63F 13| & 7
215 HR NI 2 [ ki ai % HEX 63E 14 & &
216 FR M LY 2 PRk 7 HEVLE 6F 15 & &
217 AR ML 27 k5 9 EFE 63F 16 | & i
218 AR L5 o 27 Pt 5’4 HME AR 63F 17 & 5
219 FR ML 2 fi*3E % LEX 63F 18 = &
220 ARV 27 e 5’4 L REX 69F 19 & &
221 TR 2 X% o HhE FEE 639F 20| R i
222 ML 2 [ ks B PR A 635F 21 & i
223 ALY 2 Sl u HEX 63F 22 & 5
224 ARV 27 Mg P LREX 69F 23 & &
225 HR N 2 VI u FEI5 X 63E 24 = 5
226 ML 2 kx i LEX 6F 25 & &
227 ANV fify % pal HhE AR 63F 26 & i
228 ARSI G 5’4 Ji] {5 FL 63F 27 & 5
229 tEMLIE 2 s 7 LEX 63t 28 & &
230 ARV 27 FLREH B HEX 69F 29 & &
231 AR ML 27 s IH 5§ PR E 639F 30 [ # i
232 FRNYL I 2 Bk £ ) KIARX 635F 31 = 5
233 tE ML 2 kxR % LEX 63F 32 = pas
234 ARV 27 X[ 35 P BT HE 63F 33 & 5
235 tE ML 2 FB x4tk L) HaiE 63F M| £ i
236 HRINY L 2 P o 5’4 KIRX 63E 35 & &
237 HR PNV 27 ZEh 5’4 L REX 69F 36 = &
238 AT A 2 fH*it P LEX 63F 37 & =
239 FE NI AR 2 [ 7 LEX 63t 38 i i
240 AT Y HRK 5’4 L REX 69F 39 = 5
241 AT Y 2 itk P Bl X 9t 1 = &
242 MR 2 Hx ) HhE T3E 2 & i
243 FR M LY 2 P b % HhE THE 3 & i
244 AR VLY 27 R P T H THE 4 & 4
245 tE ML 2 Hx1h o | CERZEESE Tt 5 & i
246 ALY 2 Frxgy 5’4 HEX Tt 6 & =
247 AR PNV 27 PRkt 5’4 LREX THE 7 = &
248 AN Y 27 {44 P LEX Tt 8 & &
249 ALY 2 St 5’4 HEX 9t 9 & =
250 AT YEE k2 B LREX 9t 10 & &
251 HR PNV 27 TCRHT 5’4 ETE 9t 11 & 5
252 FR M VLY 2 Bk L) HEVLE THE 12| & &
253 FR ML 2 Ik Y LEX THE 13 pis &
254 AR LY 27 S il HME A THE 14 & 7
255 FR N 2 MRkZE 5’4 HEX It 15 = Py
256 MR 2 ZEx % HhE T3E 16| & i
257 AR ML o PRxE i KIRIX THE 7] & i
258 G AN PR s R BN 5’4 LEX Tt 18 & &
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259 FR PNV 27 ARk 5’4 LEX 9 19 & 5
260 FR ML 2 ZExE ) HhAE THE 20 | & i
261 ALY 2 Ex 5 HEX Tt 21 & =
262 AR PNV 27 SR 5’4 LREX 9t 22 & &
263 tE ML 2 (D L) LEX THE 23| & &
264 HRINY L 2 kit % VT E THE 24 & 5
265 AT YEE 2 RExIT x© L REX 73t 25 = =
266 ANV 27 HBHJK 5’4 KAEX THE 26 & =
267 FR ML 2 P % HhE THE 27 & i
268 AT Y B+ B HEX 9t 28 & &
269 AR PNV 27 Tk 5’4 IR X 9t 29 = &
270 FR M VLY 2 = ) LEX THE 30 [ £ pas
271 tE ML 2 A Y LEX THE 31 = pas
272 AR VL5 27 gk P Gl X THE 32 & &
273 tE ML 2 H IR L) HaiE THE 33 # i
274 HRINY L 2 i 5’4 A THE 34 & 5
275 HR PNV 27 RHF pal HEX THE 35 & pass
276 G AN PR s R BIRIK 5’4 LEX THE 36 & =
277 tEMLIE 2 IR i LEX THE 37 & i
278 AR o T P HEX 8HF 1 i pas
279 AT Y 2 VLkBE 5’4 Bl X 8HE 2 = &
280 ML 2 AR ) HhE 8L 3 & i
281 FR M LY 2 AR % HhE 83t 4 P i
282 AR ML 2 AR 4 HhE 8t 5 pats Fn
283 tE ML 2 ZxiE | 5 X 8HE 6 & &
284 ML 2 FxfE % [y EL SHE 7 & i
285 AR ML 27 gk 5§ HEX 8HE 8 pa pass
286 AR ML Y5 Hp 27 Bk IR B O|PEgEESE 8L 9 & 5
287 tEMILIE 2 XI|*BE i LEX SHE 10| & &
288 ARV 27 fifEk 5 B L REX 8HE 11 & &
289 FR PNV 27 it P MR B 8HE 12 = 5
290 MR 2 EICYIR Y HhE 8t 13| & i
291 FR M LY 2 X E0] Y LEX S¥E 14| & &
292 ARV 27 g | 5 HalE 8HE 15 & 4
293 HR N 2 sl 5’4 T A SHF 16 & 5
294 ML 2 EkY % LEX SHE 17 = pas
295 A YT YEE 2 ikt pal LREX 8HE 18 = &
296 AR ML Y5 o 27 2t Y A 5 8HE 19| & i
297 FR M LY p 2 it Ci Gl X SHE 20| & &
298 HRPNYL Y 27 kR 5’4 LREX 8HE 21 & &
299 HR PNV 27 Frsxdt P HEX 8HE 22 & &
300 ALY 2 TR 5’4 HEX 8L 23 = =
301 tEMILIE 2 i Cil LEX S¥E 24 | B &
302 ANV X7k 5’4 HEX 8HE 25 & pas
303 FR M LY 2 PRK Ci LEX 8L 26 | & &
304 FR M LY 2 B Y LEX 8L 27 & &
305 HR PNV 27 ZExT pal L REX 8HE 28 = &
306 AR YTV 2 MRk E 5’4 SR E SHE 29 & 5
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307 AR ML 27 (ki) P HEX 8HE 30 & pass
308 FRNYL I 2 foixi 5’4 HEX SHE 31 £ pas
309 FR MLy 2 Rk % Ji] {5 H 8t 32 & i
310 AR PNV 27 2RI 5’4 LREX 8t 33 & &
311 HR NI 2 [y L) KIRIX SHE 34| & &
312 HRINY L 2 TR B 5’4 HEKX SHE 35 & &
313 HR PNV 27 &k pal L REX 8HE 36 = &
314 ANV il it HalE 8HE 37 & i
315 ALY 2 HH* T 5 HEX 8L 38 pay 5
316 AR M L5 27 B il HHEIX 8HF 39 & pas
317 AR ML 2 T 5§ HEKX 8HE 40 | R pass
318 FRINYL Y 2 Jux A ) HEX 8L 41 & &
319 FRINY L 2 i *1% % HEX St 42 & &
320 ARV 27 L, s Gl X SHE 43 pats Pty
321 HR N 2 k) L) HEX 9¥F 1 = Py
322 HRINY L 2 Pl 7 HhE 93t 2 & i
323 AR ML o IExiE pal HhE 93t 3 Py Fn
324 AR ML Y5 Hp 27 PhxE P Ji] {5 B 9¥f 4 & i
325 FR ML 2 kxR 7 HEX 93t 5 & &
326 AT Y T 5’4 L REX 9 6 & &
327 AT Y 2 ke P LEX 93 7 = &
328 FRNYL I 2 Sz ) HEX 9F 8 = &
329 FR M LY 2 = Y LEX 9t 9 & &
330 ARV 27 Sk 5’4 SIRE 93t 10 & 5
331 FR M LY 2 B L) LEX 9¥F 11 & &
332 FR M LY 2 Bk T 7 LEX 9¥F 12 & &
333 HR PNV 27 ks pal AR B 9 13 = 5
334 AN Y 27 HB*Af P LEX 93t 14 & &
335 FR M LY 2 kx5 7 HEX 9¥F 15 pis &
336 AT Y JE] R B KX 93t 16 = =
337 G pANRA s FxiE P LEX 93 17 = &
338 FRNYL I 2 x 3L Y HEX 9¥F 18 & &
339 FRINY L 2 Dl daled Y KIRIX 9f 19 pis &
340 ARV 27 I B, P LREX 93t 20 & &
341 FR M LY 2 Bk 5 L) il X 9¥F 21 & &
342 HRINY L 2 foixidt % HEKX 9¥F 292 & &
343 AR PNV 27 i 5’4 HEX 9 23 = &
344 AT A 2 M P LEX 93t 24 & &
345 AR 2 Bk 7 HEX 9¥F 25 pis &
346 HRPNYL Y 27 ¥ B LREX 9 26 & &
347 HR PNV 27 Pkt 5’4 KIARX 93t 27 = =
348 FR M VLY 2 S L) ERAR 9F 28 & 5
349 iR PAPAR s h TE*FN Y A 9t 29 & i
350 GiPANRA s R+ P LREX 93t 30 & &
351 FR M LY 2 ZEx)7) L) LEX 9¥F 31 £ pas
352 ALY 2 Toxbk 5’4 HEX 9t 32 & =
353 AT YEE 2 YLk pal L REX 9 33 = &
354 AR YTV 2 B P LEX 9¥f 34 & =
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355 FR PNV 27 PREIE 5’4 LEX 93 35 & &
356 FR ML 2 K+ EE 5’4 FEU5X 9F 36| 2 i
357 FR MLy 2 IrfS+ Fify % LEX 9¥E 37 pis &
358 AR PNV 27 Pitiia 5’4 LREX 9 38 & &
359 HR NI 2 Pt L) HhE 93t 39 = i
360 HRINY L 2 Bl 5’4 LEX 9¥F 40 & &
361 HR PNV 27 F*IK pal L REX 9 41 = &
362 ANV 27 gkx 2% P EX 10E 1 & =
363 fRINY LI 2 K It % HhE 103t 2 P i
364 ARV 27 P s 5’4 HEX 10¥E 3 & &
365 AR ML 27 B+ il HhE 103E 4 Py Fn
366 FRINYL Y 2 S+ % T E 103 5 & i
367 FRINY L 2 R Y i 10BE 6 pis i
368 AT Y 2 JixtE P LREX 10HE 7 & &
369 ALY 2 = 5’4 HEX 103E 8 = 5
370 HRINY L 2 xR 7 HEKX 10FE 9 & &
371 ANV PxiE pal HEX 103E 10 & pass
372 AT A 2 [ R 5’4 LEX 103t 11 P =
373 ALY 2 SokH 5’4 HEX 103E 12 pay =
374 ARV 27 445 B L REX 10¥E 13 & &
375 FR PNV 27 N4 P HEKX 103E 14 & pass
376 MR 2 [RaE % LEX 103F 15 = =
377 FR M LY 2 Lhx7g % EX 10BE 16 pis &
378 ARV 27 Frxdt P HEX 10HE 17 & &
379 tE ML 2 T i HEX 103 18 & &
380 FR M LY 2 B*5% % Gl X 10FE 19 & &
381 G pANRA s e kIR 5’4 AR T 10PE 20 = 5
382 AN Y 27 frT it P HEX 103t 21 & &
383 FR M LY 2 pSading 5 LEX 10BE 292 pis 5
384 AT Y kR 5’4 KX 103E 23 = =
385 AR ML 2 TS o HEKX 103K 24 | R pass
386 FRNYL I 2 SR Y [E2RiRa) 103E 25 & i
387 tE ML 2 TR % HhE 103F 26 & i
388 ARV 27 AR il HME A 103k 27 & 4
389 HR N 2 bk Y HhAE 103F 28 & i
390 ALY 2 RAHME 5 EILE 10HF 29 = 5
391 AR PNV 27 k) 5’4 LREX 10¥E 30 = &
392 AT A 2 Gnd 5’4 LEX 10E 31 & =
393 FR M LY p 2 IfS s+ EH 7 P E 10BE 32 pis 5
394 ANV B+ il HRIE T 103E 33 & 4
395 AR ML p 2 o il HEKX 103E 34 | & &
396 FR M VLY 2 k3L % LEX 103E 35 & &
397 AR 2 R ML % HEX 103E 36 & =
398 ARV 27 [T 5’4 LREX 103E 37 = =
399 FR M LY 2 PR*IR i X 103 38 & &
400 MR 2 YL Es LEX 103F 39 & =
401 HR PNV 27 Prx pal HEX 113E 1 = &
402 G AN PR s R BHY 5’4 LEX 113E 2 & =
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403 AR ML 27 k%0 o T E 113E 3 i i
404 ML 2 [k Cil HhAE 113 4 & i
405 FR MLy 2 Fix u Gl X 113F 5 pis &
406 AR LY 27 PRI 4 HhE 113t 6 pats Fn
407 tE ML 2 amads] L) PR = L13E 7 & i
408 FR M LY 2 X+ Bk 7 LEX L13E 8 & &
409 HR PNV 27 R*iz pal L REX 113E 9 = &
410 ANV 27 Tt P EX 113E 10 & &
411 MR 2 ks u HEX 113E 11 pay =
412 ARV 27 ZEx1t 5’4 L REX 113E 12 = =
413 AR PNV 27 IS P LEX 113E 13 = &
414 ALY 2 LR 5 HEX L1E 14 & =
415 FR M LY 2 A iR Y LEX L13E 15 pis &
416 ARV 27 2% P LREX 113E 16 & &
417 FR M LY 2 e % LEX 113F 17 & &
418 MR 2 PR u HEKX 113E 18 & =
419 AR ML 27 [ Reateisi i HEX 113E 19| & pass
420 AR ML Y5 Hp 27 x5 B O|PEgEESE 113E 20 & 5
421 MR 2 kg u HEX 113E 21 pay =
422 AT Y FBHIR B L REX 113E 22 = =
423 AR ML 27 Il 7 |PELZESE 113E 23 & i
424 ML 2 Bkl ) A 113 24 | £ i
425 FR M LY 2 ] % LEX 113F 25 pis &
426 AT Y 2 TR 5’4 HEX 113F 26 & &
427 HR NI 2 HHA % a1l X 113E 27 & 5
428 FR M LY 2 MrxgE u STAILEL 113F 28 & 5
429 AT YEE 2 ZEkE pal L REX 113E 29 = =
430 AR ML Y5 Hp 27 i S EILIX 113E 30 & &
431 FR M LY 2 R Ei EX L13E 31 pis &
432 AR M L5 27 kx B HME A 113E 32 & 4
433 AT Y 2 YL «© Bl X 113E 33 = 5
434 FR M VLY 2 PRx, % LEX 113E 4| £ pas
435 tE ML 2 Hxle i LEX L13E 35 pis &
436 AT Y 2 L% 5’4 LREX 113E 36 & &
437 tE ML 2 [ L) HhAE 113E 37 | & i
438 ALY 2 TR 5’4 HEX 113E 38 = =
439 ANV PR | A EILIX 113E 39 Py Fn
440 AR ML Y5 o 27 Bk P X 113E 40 & i
441 fRINY L 2 B ki % HhAE 113F 41 & 5
442 HRPNYL Y 27 Tt B HME A 113E 42 & 4
443 HR PNV 27 [FRaDe P LEX 123F 1 i 5
444 FRNYL I 2 WA L) HEX 123F 2 & &
445 tEMILIE 2 RHE Y A 123t 3 P i
446 ARV 27 B 5 |PHEZEESE 123F 4 & 5
447 tEMILIE 2 JuxE Y jiokdit] 123t 5 = i
448 FR M LY 2 Bk % LEX 123F 6 & &
449 AT YEE 2 HBHEH 5’4 L REX 1231 7 = &
450 ARSI T S EILIX 123F 8 & pas
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451 AR ML p 2 AR P SEKX 123F 9 Py &
452 FR ML 2 B Y LEX 123F 10| & pas
453 ALY 2 eE 5’y LEX 123F 11 pay =
454 AR PNV 27 kR P LREX 123F 12 = =
455 FR M LY 2 TR 5% X 123F 13 & &
456 ARSI 2 B % HEX 123F 14 & =
457 HR PNV 27 TRt 5’4 HEX 123F 15 = =
458 ANV 27 Ak P HEIT A 123F 16 P =
459 FR ML 2 Jrx ¥ 5 EX 123F 17 pis &
460 ARV 27 Pkt 5’4 L REX 123F 18 = =
461 AT Y 2 X i P LEX 123F 19 = =
462 ML 2 iy 5’4 HEX 123F 20| R &
463 FR M LY 2 HExT B FEGEA 123F 21 pis 5
464 ARV 27 ZEx G P LREX 123F 22 = =
465 FR M LY 2 A Y LEX 123F 23 £ &
466 FR M LY 2 Bk % %= 123F 24 & 5
467 AT YEE 2 JE ik 5’4 L REX 123F 25 = =
468 AR ML Y5 Hp 27 S5 P HEX 123F 26 & &
469 FR ML 2 Tl i EX 123F 27 pis &
470 GIPANRA R s J Gl 5’4 HEX 123F 28 = =
471 AR ML 27 k5= il HhE 123k 29 & i
472 ALY 2 Mokl 5 HEX 123F 30 = =
473 FR M LY 2 P Y gy 123F 31 pis 5
474 ARV 27 kT P LREX 123F 32 & &
475 MR 2 B 5’4 LEX 123F 33 = =
476 FR M LY 2 ki % EX 123F 34 & &
477 AR ML 27 Pk 9 EILIX 123F 35 Py &
478 AR ML Y5 Hp 27 L 5’4 HME AR 123k 36 | & i
479 FR M LY 2 PN % LEX 123F 37 = &
480 AT Y B+t 5’4 L REX 133E 1 = =
481 FR PNV 27 2 P HEX 133E 2 = &
482 FRNYL I 2 kx5 ) HhE 133t 3 = i
483 FR M LY 2 TR Y HEX 133F 4 & &
484 ANV LI E Sy P HME A 133E 5 & 4
485 HR N 2 i $5 L) HhAE 133t 6 = i
486 FR M LY 2 JE 0 7 LEX 133F 7 & &
487 AR PNV 27 = pal LREX 133E 8 = &
488 AR ML Y5 o 27 i 5’4 d A 133E 9 & 5
489 fRINY L 2 T i HEKX 133 10 pis &
490 AT YEE HB B %X 133E 11 & &
491 AT Y5 2 AR 5’4 LEX 133E 12 = =
492 FR M VLY 2 D5 L) HEX 133 13 & &
493 FR ML 2 PR*EH o | FEGEASK 133 14 pis 5
494 AT Y 2 PR P LREX 133E 15 = =
495 FR M LY 2 TR 5% X 133 6| £ &
496 FR M LY 2 plaalos 5s EX 139 17 & &
497 HR PNV 27 [ pal L REX 133E 18 = =
498 AR YTV 2 8 i | CREgEESE 13¥F 19 P =
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499 FR PNV 27 R P LEX 133E 20 & &
500 FR ML 2 TRl Cil X 139 21 & &
501 FR MLy 2 PR % LEX 133E 292 = g
502 AR PNV 27 Pk 5’4 LREX 133E 23 & &
503 tE ML 2 F] ki Y HhE 133 24 | B i
504 FR M LY 2 PRx%E Ci LEX 133F 25 = g
505 AR ML o H 3 5§ HEX 133E 26 | & &
506 ATV 2 Kljx— P EILE 13¥F 27 P =
507 FR ML 2 kx T % AR 133E 28 & i
508 AT Y iRl B %X 133E 29 & &
509 AR PNV 27 iz 5’4 HEX 133E 30 = &
510 MR 2 AL 5 LEX 133F 31 = =
511 FR M LY 2 X7 i EX 133 32 pis &
512 AT Y 2 R i 5’4 LREX 133E 33 & &
513 FR M LY 2 EIEIR B EREZESE 133 [ £ &
514 FR M LY 2 H+JE iz LEX 139 35 & &
515 AR ML 27 kit 9 HaiE T 133E 36 [ £ i
516 AR ML Y5 Hp 27 Bk ja ol HEX 133E 37 & &
517 FR ML 2 B S % VT E 133F 38 pis 5
518 AR ML Phx{E P bt e B 133E 39 £ 4
519 ML 2 YLk 5§ SEX 133E 40 | R pass
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